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Copy and complete each problem below. Set your working out clearly as you have been shown.
Rename the remainder as a fraction.

[1] 524 + 10 = [2] 578 +3 = B8] 672 +5 =
[4] 586 + 8 = [5] 632 +4 = 6] 749 + 4 =
[7] 710 + 9 = 8] 794 + 6 = [9] 896 + 5 =
[10] 646 + 10 = [11] 731 + 5 = [12] 760 + 5 =
[13] 651 + 6 = [14] 715 + 5 = [15] 801 + 3 =

[16] 433 + 5 = [17] 512 + 5 = [18] 563 + 4 =



ANSWERS

Division
Copy and complete each problem below. Set your working out clearly as you have been shown.
Rename the remainder as a fraction.

[1] 524

[4] 586

[71 710

[10] 646

[13] 651

[16] 433

10

10

52

73

78

64

108

86

[2] 578 -
2/5

[5] 632 =
1/4

[8] 794 -
8/9

[11] 731 =
3/5

[14] 715 =
1/2

[17] 512 -

3/5

192

158

132

146

143

102

2/3

1/3

1/5

2/5

[3] 672

[6] 749

[9]1 896

[12] 760

[15] 801

[18] 563

134

187

179

152

267

140

2/5

1/4

1/5

3/4



